Notes Answers


Chapter 5 Internal Resources, Capabilities and Competences
Answer 1
(a)
As far as the general environment is concerned, we can analyse PEST and competitive factors.
Political and legal factors

Firebridge Tyres Ltd (FTL) operates in a stable political environment. Agreements between governments have opened up international markets, not only to FTL but to its competitors. However GTC does not want FTL to increase its exports outside Europe. There is no shortage of car service stations, a fragmented industry, so political interference is unlikely. Local government might determine the siting of certain activities. FTL is indirectly affected by government transport policy, if this affects the demand for and use of cars.
Economic factors
In the UK, tyres must be checked annually, as part of the MOT testing process. The overall level of economic activity determines transport use, which influences wear and tear of tyres. However, in times of hardship (艱難, 困苦), people will be less likely to buy the premium brand range of preferring to go for the lower cost Freeway range, cheaper overseas tyres, or even retreads (翻新).
The general lower of prosperity also influences the number of people in the population who use cars; rising incomes and wealth mean rising numbers of cars purchased, hence greater demand for tyres. People will also move to lower cost service options in hard times: FTL does not want a service business lumbered (妨礙,拖累) with heavy overheads. The UK market is much smaller than the US: GTC might be unrealistic in assuming that the same formula, which might depend on economies of scales, would work over in the UK.

Social factors
Social factors influence demand indirectly, via political pressure for legislation or changing patterns of demand. For example, governments are more concerned with ecological issues. There are disposal problems with used tyres. This might affect what they are made of. Some can be burnt as fuel, but with landfill taxes increasing, recyclable tyres may be preferred. The proposed service business depends on patterns of car use. It may be that many drivers and will prefer a garage.

Technological factors
Tyres are a fairly mature technology, although there are improvements to be made to increase their grip, their longevity, and the recyclability. Any changes in the plastics and materials industry might be relevant. Also, if cars become lighter, lighter tyres will be needed.

Competition

The main factor in the environment is competition, which is impinging (打;撞) direct on FTL.

A number of service chains already exist in the UK, but otherwise the industry is fairly fragmented. Competition on price is important, but also on quality. However, FTL needs to assess how the competition will respond.
The competitive environment can be described using Porter’s five forces model. There are few substitute products, but competitive rivalry is intense. Suppliers have low bargaining power probably.

(b)

Barriers to entry discourage new competitors to an industry. If they are low, it is easy to set up shop, but hard to discourage other people from doing so too. The main barriers to entry are described below.
Economies of scale

For some firms, a barrier to entry is the size of the operation needed to be profitable. Tyres are high volume, low margin products on the whole, and for most cases, the best way to make money is to manufacture in large quantities. A large plant implies high fixed costs and a high breakeven point. There is little evidence that significant economies of scale can be achieved in servicing. There are some service chains, but the industry seems fragmented.
Product differentiation
FTL already pursues this strategy by producing different tyres, directed at different segments. In service, differentiation might be achieved on the basis of FTL’s brand name, and a promise of service quality. Advertising costs might be considerable, however, to build the brand.
Capital requirements
No new factories need to be built, of course, but FTL will have to acquire leases or freeholds of a number of properties in which to set up its service stations. Many of the prime spots might be taken over by petrol stations. Ideally FTL will be positioned near residential areas or near roads, to make them easy to find. The cost of this depends on the size of the operation that GTC is proposing.
Switching costs

Switching costs are minimal; new customers are easy to find, but hard to keep, unless service quality is better.
Distribution

The chain is basically a distribution outlet for FTL’s tyres. The importance of choosing the right sites for distributing the service was identified above. Existing service providers know the market, but otherwise they have no special advantages.
Conclusion
Barriers to entry are fairly low. This will make it easy to set up business, but hard to make a profit perhaps, unless some unique lessons can be transferred from GTC, operating in a very different transport infrastructure.
(c)

Strategic capability and critical success factors
Strategic capabilities have four essential qualities.

1. They produce effects that are valuable to buyers.

2. They are rare.

3. They are robust in that they are difficult for competitors to imitate

4. They are non-substitutable
Critical success factors, on the other hand, are product features that are particularly valued by a group of customers. Organizations must get these things right if they are to succeed. Some of these factors relate to physical products, but many depend on internal processes and the basic infrastructure of the business.
FTL is a manufacturing business, producing what is essentially a commodity product, tyres, and making a stab at product differentiation. This competence is not truly distinctive, as there are other tyre manufacturers in the world, but FTL has built up a market presence in Europe. The strategic capabilities that led to this position look something like those show below.
1. Building a brand that consumers recognize, and preventing its erosion by competition

2. Good commercial relations with the distributors, who are the strategic customers

3. Making incremental technical innovations in order to encourage new sales

How do these relate to the proposed service centre business? A key problem is that services are a very different proposition to products. There are several possible resources and competences for the proposed servicing business.
1. A brand that customers recognize and choose, having realistic and satisfied expectations of what it offers.
2. Well-chosen sites that are easily accessible, offer plenty of parking and are comfortable to wait in.

3. Well-trained staff who not only know how to change wheels and tyres, and do other repairs but who are able to demonstrate high standards of customer care.
4. To be seen as preferable to the local garage in terms of the processes by which the service is provided.
FTL’s existing competences, at best, cover brand building. It has no experience in choosing and managing properties or customer service staff – US conditions are different, so a transfer of skills between the US and the UK firm may be hard to achieve. FTL runs a manufacturing business; a service business, based on a variety of intangibles such as staff courtesy, is a different proposition. The required cultures of the two businesses might conflict.
The firm might have to spend a lot of money on training, both technically and in terms of customer care. Also money would have to be spent on building the brand. However, GTC should be able to provide some expertise in building the service aspects.
In short, FTL’s current strategic capability is not suited to this plan, given the fragmented nature of the industry. GTC may be able to provide some help, but GTC might end up investing more money and making short term losses, rather than the profits it is looking for.

FTL is in a difficult situation, because its managers are tied by the priorities of the US parent.
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